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page of your answer-book.
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You must write the subject-code/paper-code  05/C in the box provided on the title

(ii) Make sure that the answer-book contains 26 pages (including title page) ond aré

properly serialed as soon as you recefve I,

flii} Question/s attempted after leaving, blank pagels in the answer-book would not be

evaluated.
() Question paper will comprise of 4 Parts A, B, C and D,
fw AN Parts are compulsory.

(v} Each question of Part-A carries I mark, Part-B carries 2 marks, Papi_C carrics

1 marks and Part-D carries 5 marks.



i} Out af question number 26, 27 and 28 of Part=D, attempt one question each. roial
3 questions are to be attempred,

fuili} Answers should be brief and to the point. Also draw a labelled diagram where
' required.

(ix) Diagrams/Figures in the question paper need not io be drawn on answer hook, (il
write sulftable answers,

Part-A Marks : 5
1. 'Why is respiration called an exothermic reaction 7 ' 1

2. Inthediagram shown below what type of organs are shown in relation to evolution 7 1

BIRD

3. Whichdefect ofthe eye is shown in the figure given below ?

TN

N N’ o

4. Label |I| and Iz[ inthe given figure.

Vet t=1
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The above chemical equation is an example of which type of chemical reaction ?
(a) Combination reaction (b) Decomposition reaction )
{¢) Displacementreaction (d) Double Displacement reaction 1
. . Part-B Marks - 2
6. Whathappens at the synapse between twoneurons 7 2
7. Label III and El in the figure given below :
Hypothalamus Pineal Gland
Gland £ Pituitary Gland
Yok " Gland E
" 1+1=2
an Pancreas - i
. ! Adrenal Gland
8. Find the power of a concave lens of Focal length 2 {two) metres. 2
9. Write characteristics of magnetic field lines. .- 2
10. Whichgasisbeingproducedduring  Thistle Keep
reaction in the test tube 7 How does s('m‘d'_i
this gas react with Calcium - ork " Delivery Tube
" Hydroxide/Limewater? Test Tube
Dil. HCI Test Tube
' Sodium
Carbonate
1+1=2
+05/C-X
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(13)

Why should curd and sour substances not bekept in brass and copper utencils/vessels 7 2

12. (v Writemolecular formiilaof Butane.
(ii) Drawthestructure of Propanal. _ i 141=2
13, Write Mendeleev's Periodic law of elassification of elements. 2
14. Howdo . '
(i) Atomicsizeand
{ii) Metallic character, change in a group of Modem P:réudic table on going top 1o
bottom. ' : o 1+41=2
15. ‘Wlmmmempmufﬂwwuupo;xyskminwmﬂmu?ﬂwmm
transpartof water and mineral take place in such plants 7 1+1=2
PartC - Marks : 30
16, lnMﬁmmchlawi;mm?uhgl-@mﬂ [2] inrelationto the lawshown.
U 1+1+1=3
17. \\&iwmuﬁsﬁuﬂfmidmtsmnfmuw. g 3
18. What are decomposers ? What is the role of decomposers i the ecosystem 7 1423
19. Whatchanges would yousuggest in your home in order to be environment friendly 7 3
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20. ‘Write achemical equation for the

reaction taking place in the test tube.
How does the colour of solution Test Tube
hange? Whati incolourof Thread
change ¥ hat is change in colour Cui:p-cr Sulphote
Solution

iron nails ?
[ron Mails

21. Name the compound shown in the figure. How many single covalent bonds are present in it ?
Towhichseries of Hydrocarbons does this compound belong ?

1+1+]1=3
21, 'Writéthree differences between Aerobic and Anaerobic respiration. 3
23. 'What are fossils ? What do they tell us about the process of evolution ? 142=3

24. Which mirror is shown in the diagram ? Where is object placed in relation to the mirror ? Write
characteristics of the image formed : . C 1+1+1=3

25. Why does the colour of the sky appears blue ? '
3
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) Part-D Marks : 15
6., Drawalabelled diagram of vertical section of a flowerandexplainits various parts. ~ 2+3=5

or

i
; What changes are seen among the girls during adolescent age / puberty 7 5
Z'T; Write Ohm'’s law. Draw a circuitdiagram to prove itexperimentally in the laboratory,  2+3=3
| or
! (a) Whatis a conductor of electricity 7 Give two examples. 2
! (b) Why is series arrangement not used in domestic circuits 7 3
28. Write three physical properties and two chemical properties of metals. 5
_ or -
(a) Write three methods to prevent rusting of iron, 3

(b) Giveexample ofanon-metal whichis
(i) Good conductor of electricity
(ii) haslustre, : . ) 2
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